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Question 5(h)

First M1 for a complete method for finding at least one f value .. for producing an equation in 7 only.
(condone sign errors but not missing terms)
First Al for a correct quadratic equation in £ only or TWO correct lincar equations in ¢ only.

Second DMI, dependent on first M1, for attempt to solve the quadratic or one of the linear equations.
Second Al for 3.0 or 3 or299

Third Al for 1.3 or 130
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First M1 for resolving vertically with usual rules.
First Al for a correct equation

Second M1 for use of v* =4” +2as, with v= 0, u= 28 or = 0 and v = 28 and their a, (or any other complete
method which produces an equation in ,which could be negative)

MO if they haven't calculated a value of a.
Second Al for 0.32 or 0.316. (must be posit

since it's a distance)




